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QUESTION 1

Which of the following about I1S-IS level hierarchies is FALSE?

A. Level 2 routers interconnect the Level 1 areas.

B. There must be a contiguous Level 2 backbone to enable routing throughout the entire network.
C. Level 1 routers send packets to the nearest L1/L2 router if the destination is in a different area
D. Level 2 routers store the Level 1 and Level 2 topology information in a single database.

Correct Answer: D

QUESTION 2

Click on the exhibit.
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interface "office 10"
loopback
ipvo
aldress 2001:DB8:A::1/64
exit
exit
interface "office 8"
loopback
iprh
address ZOD1:DBB:6: :1/64
exit
exit
interface "office 9"
loopback !
ipv6
address 2001:DBE8:9::1/64
exit
exit

output omitted ...

policy-options
bhegin
prefix-list "offices"
prefix 2001:DB&:8:: f48 longer

exit
policy-statement "export offices”
entry 10
from
prefix-list "offices"
exit
action acoept
exit
exit
exit
Commi t
exit

An OSPFv3 router is attached to a non-OSPF domain that includes networks 2001:DB8:8::/64.2001 .DB8:9::/64 and
2001 :DB8:A::/64. Other routers in the OSPF domain see the prefix 2001, DB8:8::/64, but not the other two prefixes.

What could cause this?

A. The router is not configured as an asbr

B. The router is not configured as an NSSA
C. The export policy is not applied to OSPFv3.
D. The prefix list should be 2001:DB8:8::/46

Correct Answer: D
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QUESTION 3

What is the source IP address in an OSPF update?
A.224.0.05

B. 224.0.0.6

C. The unicast IP address of the interface the update is sent on
D. The system address of the router.

Correct Answer: C

QUESTION 4

Which function or component of the Alcatel-Lucent 7750 SR is in charge of supporting dynamic routing protocols and
constructing the routing table?

A. IOM
B. CPM
C.FIB

D. SPF

Correct Answer: B

QUESTION 5

To configure 6over4 tunneling, where must indirect static routes be configured?
A. On the CEs only.

B. On the PEs only.

C. On only the branch office CE.

D. On both the CEs and PEs.

Correct Answer: B
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